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IT Year Commerce Examination, 2018

ACCOUNTANCY & STATISTICS
Paper-I1
(Corporate Accounting)

Time : Three Hours
Maximum Marks : 100

PART - A (@ug-31) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
T AT § | e e SO S e s 7 8
A4t g F i gue ¥
PART - B (@Wus-w) [Marks : 50

Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks,

mm@@—@mﬁﬂ%m,wﬁwaﬁml

T F¥ 1 ST 250 W F afp 7 2|

T4t I % 3iF wuE ¥
PART - C (@vs-w) [Marks : 30
Answer any two questions (300 words each).
All questions carry equal marks.
IS T T FIST | T U9 1 TR 300 V=Rl § 21 7 8y
9t 9l & 3k wEE §
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PART - A
(TUe-2r)

1. (i)  When there will be a need to use equation to determine
amount of fresh issue for redeemption of preference
shares ?

FRlECT ST % Wi R T ot = of 30wl &
e weitereor ot weirn e s 2

(ii) What is firm underwriting ?
G3g AT == gy @2

(iii ) State an two items not to be included in normal profits
to determine net profit U/S 198.
HRT 198 ﬁquﬁmﬁmwwﬁaﬁh@
ST et 1 & wE Y e

(iv) Whatdo you mean by divisible profits ?

faursm 4 wsdf ¥ stroe g 3 22
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(v)  What is intrinsic value of share ? Write a formula to
determine it.
mwmqﬁw%?sﬁmmmwﬁ@al

(vi) What is super profits in valuation of goodwill ? Write a
formula to calculate it.
@rﬁr@mﬁaﬁmww%?sﬁmaﬂﬁm@
fefea |

(vii) State two point of difference in purchase method and
pooling of interest method to record for amalgamation.
qaﬁw%ﬁmml%rﬁma‘%ﬁaﬁﬁmﬁﬁzﬁa
T o g Fraemsd |

(viii ) State any two conditions for amalgamation in the natl‘lre
of merger.
foera & wwra & w9 o < I sy |

(ix) What is consolidation of shares 7
ST o1 T 3 &2

(x) Whatis minority interest on consolidation ?

THF T STeqEETF T 7 27
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PART - B
(@vz-7)
UNIT - 1
(3=E-1) :
2. Following are the details relating to the B/S of a company.
T F7T % fog & wrafg fis T E

2,000 8% redeemable pref. shares of ¥ 100 each fully paid

up. 40,000 Equity shares of ¥ 10 each fully paid up.

P&L a/c credit balance < 2,30,000
Sundry creditors < 30,000
‘Sundry Assets < 6,40,000
Bank Balance < 2,20,000

It was decided by the company to redeem preference shares
y
at a premium of 5% out of profits. Give journal entries to enter

above transactions.

mﬁ#wﬁ@ﬁwwﬁmsﬁms% Wi | e 5
mm.mwww&mmww

gifeg |
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OR
( 3teran)
3. Explain the following :
- =1 =1 wHEmE
(a) Forfeiture of shares
S T ST AT

(b)  Profits prior to incorporation

HAAEH | 9d & oy

UNIT - I1

(3TE-11)
4. From the following bal.ances taken from the books of a
company, you are requiredr to calculate the maximum
remuneration payable to a managing director U/S 197. Find

out the excess amount, if any paid to him :

2802/9940 5 PT.o.
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TG o 78 e et afen 17 2, s o
Net Profit ¥ 20,0000.

Items considered for arriving at the above net profit :

mmwuaﬁm%gﬁwnﬁﬁwﬁww%:

%
()  Provision for taxation ’ 30,000
(i)  Managing directors remuneration 3,000
(iii)  Provision for doubtful debts 500
(iv) Prelioninary expenses written off 3,000
(v) Directors fees 2,000
(vi) Depreciation (Allowable U/S 123 ¥ 9000) 9,500
(vii) Donation to sister concerns 2,000
(viii) Voluntary payment to an employee
(without any liability) 1,000

2802/9940 6
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OR
( 3terar )

5. What is dividend ? As per companies rules 2014 when a
company can declare and pay dividends out of accumulated
reserves ?

AT SR BT &2 FE R 2014 % TIIR U FHe weef
T H 00 T s e w22

UNIT - 111
(3T3-111 )

6.. What is the concept of goodwill ? Expalin in brief methods of
its valuation.
wﬁﬁmmw%?sﬁ%maﬁﬁﬁﬁﬁwﬁ
AT |

OR
( 3terar)

7. Capital structure of a private Ltd. company is as follows :

T At 61 ISt g ey
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2,000, 10% preference shares of T 100 each
(participating) 2,00,000
20,000 Equity shares of ¥ 10 each 2,00,000
4,00,000

In addition to pre-fixed dividend, preference shareholders are
entitled to participate for 5% dividend after making a payment
of 15% on equity shares. Any surplus after this will be
available to equity share holders. The average annual profits
after tax amounted to ¥ 90,000. The company transfers ¥
6,000 to general reserve at the year end. Normal rate of return
expected on preference and equity shares are 8% and 10%
respectively. You are required to work out the value per share
for both preference and equity share.

2802/9940 8
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e Ferifta feer ensiier & srermen wwan simenfE 21 159 ensia
. Wﬁwmuﬁﬁrﬁmmﬁﬁwwwﬁméﬁ
ahﬁw%.mmaﬁmwmmmwm
mlm%meﬁwwu? 90,000 % & | FTUT o ¥ ot H
3 6,000 T Fe F wEa et ¥ | qoifeeR T gha
SR R A 8% T 10% MR o Srifard ¥ 1 st
YRR TE W 3791 1 qed 9 e S

UNIT - IV

(FFE-1V)

8. What is purchase consideration as per AS-14 ? Explain

methods of its calculation.
. TrE - 14%%%}:%@1%7%%%
faferst Tmemes |
OR
( 37eaT)

9. K Ltd. decided to absorb N Itd. on 31 .3.2016, on which date

their balance sheets éontained the following items :

()  Sundry debtors of K Ltd. include a debt of < 1,000

due by N Ltd.

2802/9940 9 FTO.




(i) B/R of N Ltd. itlfclude T 500 payable by K Ltd.
(i) K Ltd. hold"100 debenures of T 100 each in N Itd.
purchased at par.
(iv) Stock in trade of K Ltd. includes goods costing ¥
5,000 purchased from N Itd. in which the later 5

company made a profit of ¥ 1000.

Give necessary journal entries relating to adjustments in books.

313.2016 H %.fd1. T wfA. A wfaeEm w1 fofr forn sg

fafer 1 s7% o2 & e w2 wfimfeg o

() &0 FIed 4w 3mane 1000 wftafer
2l

() wifa. & ura faclf # T s00 H . gr 3w ¥

(i) . % " 100 T W 100 HoGH LEAAE: O & B o

m@wm‘%&wﬁél
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UNIT - v

(3%E-v)
10. What is internal reconstruction ? How it differs from external

reconstruction ?

amﬁmﬁﬁ#mm%?aamg#ﬁnfmﬁﬁmmfw%?
OR
( 3terar)
11. The B/S of H. Ltd. and § Ltd. as on 31.3.2015 are given
below : .

3132015 91 T3fr. @ v, % g ey wrc & <
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Particulars H Ltd. S Ltd

Equities and liabilities :

(1) Shéreholders Funds :
(a) Share capital ¥ 100 each 6,00,000 2,00,000
(b) Reserves and surplus :

General reserve 60,000 40,000

P&L a/c 80,000 30,000

(ii) Current liabilities :

Creditors 75,000 48,000

Total 8,15,000 3,18,000
II. Assets

(i) Non current assets 5,91,000 3,18,000

(ii) Investments :

1600 Shares of S Ltd. 2,24,000 —

Total 8,15,000 3,15,000

2802/9940 12
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H Ltd. acquired the shares in S Ltd. on 31.3.2015. The plant
worth book value of ¥ 60,000 included in sundry assets of §
Ltd. was revalued at ¥ 50,000 on this date. Prepare the

consolidated B/S of H. |td. and S Ltd. as on that date.

3. fa. 4 e, & m31.3.2015ﬁmm|m fa. =t
ﬁfwwﬁﬁﬁeo,ooowq@wmw%a%‘,ﬁﬁ
50,000 ¥ W Yqewifahe forar | w, far. wd ww. for. 1 gafeq
fogt v fafer =) Sam #fo

PART - C
(@ve-w)
UNIT - 1
(FT8-1)
12. (a) What is firm undlerwriting 2
qge AfiiT =7 &2
2802/9940 13 PToO.




(b) X Ltd. issued 4,000 shares. Mr. A underwrites 60%, Mr.
B 25% and Mr. C 15%. Firm underwriting A-320 shares,
B-120 shares and C-400 shares. Public subscribes for
2,000 shares out of which marked applications were A
400, B 800 and C 200 shares calculate the total liability
of each underwriter if (i) shares of firm underwriting
are not to be set of against gross liability i.e. treated as
unmarked and (ii) When to be set off against gross
liability.

T fe1. 3 4,000 3790 ST R 1 31 3 60% = 7 25% Fer
® 3 15% i firan | gog sy #-320, 9-120
aﬁmmzoo S| SR ¥ 2000 39 F fow srfiraq
[CRIRELEE ﬁ%ﬂ‘\“ﬁa’f T4 9-37 400, 9-800 T G
200 3911

maﬂmaﬂﬁaﬁamaﬂﬁuﬁ: : (i) 958
30 HH M F foreg Tl et oy o & 9
sﬁ%awﬁaﬁ%aﬂt(ii)uﬁmmﬁm%m

A frn o &)
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UNIT - II
(T=3-11)

13. (a) When and from where Bonus shares can be issued by
a company ?
@Mmmaﬁﬁﬁmmwmmm
€2

(b) Dueto inadequate profits during the year ending March
31, 2017, secure company proposes to declare 10%
dividend out of general reserves. From the following
particulars ascertain the amount that can be utilised from
general reserves according to companies (declaration -
and payment of dividends) rules 2014 -

31 W, 2017 T WS T % st o 2R R R
FA WA Hug 10% TR 1 T Wt ¥
F] 9 2014 (et = o spre) % arpam
Wﬁmﬁm%ﬁnﬁwﬁwmmﬁm :

35,000, 9% preference shares of ¥ 100 each
fully paid up 35,00000
16,00,000 Equity shares of 10 each fully

paid up 1,60,00,000
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General reserve on 1.4.2016 50,00,000
Capital reserves on 1.4.2016 6,00,000
Révaluation reserves on 1.4.2016 7,00,000

Net profit for the year ending 31.3.20 l.7 6,00,000

Average rate of dividends during last three years has

been 12%.

Tt i ol =7 sivea e 22 129% ot .
UNIT - II1
(geTg-111)

14. The B/S of SS Ltd. shows the following balances on 31.3.2016:
3132016 % vomH. fa. S g H i sm & .

Particulars Note No. g

Equities and Liabilities
(i)  Share holders fund :
Share capital | 12,00,000

Reserves and surplus | - 15,00,000 =

(i) Long term liabilities :

16% Debentures — 6,00,000
2802/9940 16




(i) Current liabilities - 3,70,000
Total 36,70,000
Assets :
(i) Non current assets :
Tangible fixe assets 2 10,50,000
Intangible assets 3 3,20,000
(i) Investments
(10% loan non-trade) - 6,00,000
(iii) Current assets 4 17,00,000
Total 36,70,000
Notes :
1. Share Capital
8% pref. shares of ¥ 700 each 3,00,000
Equity shares of ¥ 10 each 9,00,000
2. Tangible fixed assets -
Premises 7,50,000
Plant & machinery 3,00,000
2802/9940 17 PToO.




3. Intangible Assets -

Goodwill 3,00,000 l
Mis. expenditures 20,000
3,20,000

4. Current assets -

Stock 5,00,000

Debtors 6,00,000

Cash at Bank 6,00,000
17,00,000

The following additional information is given :

(i)  Debentures are to be redeemed in full betore the
takeover of business.

(i)  Investment in 10% loan has to be sold at ¥ 5,00,000
to faciliatate the payment to debentures.

(iii)  Present annual rental value of premises is ¥ 1,00,800.
The value of premises has to be ascertained on the
basis of 8% return.

(iv) The profits in past amounted to ¥ 3,84,000 on an

average.

2802/9940 18

&




(v)  Normal rate of return expected @ 10%.

You are required to value the goodwill on the basis of three

years purchase of super profits. -

=1 arfafies gemmt < SR

(i) Ww@vﬁmm%gﬁm%n

(ii) Wﬁaﬁwaﬂﬁ%q 10% kv fafamr ) 7
5,00,000 # &=r &

(i) & I T R 77 100800 & o T Toy gy,
TIT & SR W 3

(v) Tod sia s 3,04 000 21

(v) et w1 geam 23 10 2

maﬁwaﬁ%aﬂww%aﬂmwwﬁ%ﬁam

g

UNIT - 1v
(33E-1v )

15. Differentiate between amalgamation in the nature of merger
and in the nature of purcahse of business, Give Journal entries
in boks of purchasing Co, to acquire business when

amalgamation is in natyre of merger.

2802/9940 19 PTo.




SISHIA 1 TS 9073 & TRl & st e S | S et
F JEThl H ST 1 Y et AR s e fem &
|9 F R

UNIT -V
(3=TE-V)

16. Write notes on any two :

(i)  Determination of minority interest,
(i) Treatment of dividends in books of holding company
received from subsidiary Co,
(i)  Alternation of share capital.
fordl 1 w wfera feoforat fafied .
(i) o9 gEIw fea 1 fufo
(i) WEFF FA Y I AN F GINR FER F
FEER
(ii)) SRSt & oftad ‘
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